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o GABY S22
ol ZRIBE P (£ @8
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
] 38,570,510 37,712,309 858,201
= 136,209
s 226,011
= 165,530
2 38,042,760
RNXBY oizrst 1,189,725 1,085,112 134,613
= 32,900
= 126,904
2 1,029,921
dpisy 7 632,937 445,010 187,927
= 32,900
= 102,530
2 497,507
2N B2 101,146 43,128 58,018
201 er2o| 85, 166 28,228 56,938
01 At2tel| 45,506 22,228 23,278
ODIAAAX 39,006
—grore 1208 * 16,5008 * 123l 24,156
S 1508 * 16,5005 * 63| 14,850
OGHY M= 1,5002 * 3,00004 4,500
OnzE=z S¥A 7Y 10,0002 + 1004 1,000
ORPZANH 22 349 50,0008 * 20 1,000
02 ZT2YH| 39,660 6,000 33,660
OR= ANF 24 - 2EFF ot 4,000
OE= AZ - 24 o3t 2,000
OVMAAT Y& 2R
3402 * 16,5005 * 63 33,660
202 OiHl 6,480 5,400 1,080
01 =Uhoid 6,480 5,400 1,080
OZZAY 22 =X 6,480
301 LB 9,500 9,500 0
CEEEESET 9,500 9,500 0
OAl 4,350
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_ _ _ HEC
S EH . H(BH) - NRAY - BA2 Ol Ak o4 e HDZ=2
= o 50,0002 = 13 * 32 » 53] 750
-3 30,0008 * 8% = 3 * 53| 3,600
Oty 3.800
-= 4l 60,0008 » 1& x 2& * 53| 600
23 40,000& * 8% x 22 x 53| 3,200
(@IME=1:] 10,0003 * 9H * 32 x 53] 1,350
CIANHAE A 90, 118 114,718 A24 600
201 LBt AH| 18,118 18,118 0
01 Azl 18,118 18,118 0
OZO OIAAD AAl Ol
50,000& = 20 1,000
oA E == 30,0002 « 153] 450
OQIASI RS EHALL
70,0008 * 6YH * 153 6,300
OAEZRI 2L 3.168
SN 1,620
RETEION 3,008 * 602K * 63 1,080
SN 45,0008 * 232 * 63 540
CSHARE Mojag
45 000/ + 2102 « 63| 540
-2AS4LE 15,0008 * 5 * 63| 450
AE Ao 558
- 2HEAI & ~ 602X » 50 * 63 198
- F2A 30,0008 * 29 * 63 360
OF . 22t QNDER ZSTE
600,000& * 12& 7,200
202 OfH| 1800 3.000 A1.200
01 2WdHdl 1,800 3,000 A 1,200
OQINHHAR =X 1,800
303 A= 70,200 93,600 A 23,400
01 ZAZ2 70,200 93,600 A 23,400
OSIXMEZDH MAK AAIE
1,500,000 * 302 45,000
ODHET AreIAlE 60,0008 * 129 7,200
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OBSSEE) crzoa dOAE
600,000 = 129 7,200
O2YHIZ2A AMSAIE 600,000 = 18Y¥ 10,800
HEMHHIASE 29 3,608 9,050 N5 442
101 el H| 908 930 N22
10 JI2tHIZ2Z2XNSES 908 930 A22
OBEMHI AR DHVEE KAl 0129
32,4008 *~ 28 908
201 LBr29d| 2,400 5,250 A2,850
01 AFR22t2lb] 2,400 5,250 A2,850
OBFAH AR =7 1,700
-8 0H(A) 50,000& = 11& 550
-&l=0r0Y) 150,000 = 14 150
oY Q 2SR
1,000& = 1= = 1,0008 1,000
OBFAHIASE AO9Hs HAAL
70,0008 = 5Y x 23| 700
301 LetE A= 300 1,620 A 1,320
12 JIEIE A2 300 1,620 A 1,320
OsT AU ABE AT A
5,000& = 53| ~ 12& 300
=0l = 8,470 8,470 0
201 LBr2d9y| 8,470 8,470 0
01 AF22t2lb] 6,180 6,180 0
OROIHAAAS RS BHAT
70,0002 * 122 » 23] 1,680
ORHD0 2 PHUN ST HE
150,000& ~ 30H 4500
03 SAISEH| 2,290 2,290 0
ODAZITHA AlA EET
320,000 * 204 640
OBNEE EEH 150,0008 * 112 1,650
ol - B T 23,775 22 380 1,395
201 LBt2d9y| 18,945 3,600 15,345
01 AFR22|H| 3,600 3,600 0
ORY o - B BE
30,0008 * 30¥ x 43| 3,600
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OO0|&CHH AMES 55,0008 = 2799 15,345
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02 &dst24sHi2 2,430 2,430 0
OOIRT &at3(ZatM)
40,5008 * 43| = 15Y 2,430
10 SAIAIHIZ2 A2 2,400 2,400 0
OO0 - 8% MREA 40,0008 * 30 22! 2,400
CHata 0f2H0lE XIS 46,080 29.760 6,320
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OChsta Or2 0 S
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101 el H| 4,200 11,250 AT7,050
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_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
01 AtRZelt] 2,400 4,800 2,400
ONYE Il R 8,000% * 3% * 1000 2,400
02 ZZ=2YY 2,850 2,850 0
OX2AAAEY X4 150,0002! * 19CH 2,850
202 01l 8,580 8,400 180
01 =00t 8,580 8,400 180
OS2z U 2o =7 8,580
307 QI2t0IF 4,560 4,560 0
05 BIRISIE3 4,560 4,560 0
OB EHAHOIBIEE) SOUBHIAIAL KX
380,008 * 128 4,560
SNzs e 30,000 30,000 0
201 er2g| 30,000 30,000 0
02 ZZ=2ZY| 30,000 30,000 0
ORWLE23 2,500,0002 * 122 30,000
2xa el 2,200 2,200 0
201 Ler2y| 2,200 2,200 0
01 AFRZelt] 2,200 2,200 0
O+=2 Hu| 1,000
OUg stz Yxt2 10,0002 * 122 1,200
ARY BELHAL 20,900 7,744 13,156
= 20,900
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10 JIZAH22NELS 18,900 0 18,900
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=2 1,040
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2 1,040
202 OfHl 960 5,944 ~4,984
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SA: B
BE: XY AL
CHol: S Al Crol & 2
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
202 O4Hl 900 3,600 22,700
01 =LHAHI 900 3,600 A2,700
OHEHMH R 900
Salatad T 1,700 2,400 A700
303 Eiaz 1,700 2,400 AT700
01 Z4&= 1,700 2,400 A700
O=2& Mg o 850
-z 300,000& = 1H 300
-2 F 200,000& * 1Y 200
-& 100,000& = 1¥ 100
-& Ot 50,000& * 59H 250
OHESHA R=Atell &3 Z& 850
= B 300,000& * 1 300
-2 F 200,000& = 1H 200
-& A 100,000& = 19H 100
-& Ot 50,000& » 5% 250
FORE X 274,188 271,742 2,446
= 24,374
= 249,814
FUNXEH 29 177,660 183,660 26,000
201 LEH23H] 174,160 179,660 25,500
01 AtR2teld 174,160 179,660 25,500
Os -8 =8¢ T2 29 174,160
-EE2E MH 500,000& * 110HA 5,500
-2 A =G 200,000& = 2621 = 12043 62,400
-?Ez F4
35,000 * 253 * 123 106,260
301 ptEas 3,500 4,000 A500
10 SAIAHIZ 4 3,500 4,000 A500
OF2XXI<& 3,500
—uE24 40,000& = 50 » 1L 2,000
=] 30,000& = 50 + 1 1,500
QIZEALS B XI & 47,780 66,780 A 19,000




SN BFDY
B X

X8 2
Sl FOIXA X (St5: &8 2)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 YL 31,780 35,780 24,000
10 BAMHENS 31,780 35,780 A4,000
OFM= MOIZXIEX CHal &It A
50,0008 * 302 * 22 3,000
ONZ & 8 S @S #2Y
50,0009 * 30% * 22 3,000
OMOIS XIS XHEH DR B4
40,0000 * 20% * 12 800
OMOISXIEX JI2DE RSB
200,0002 * 602 2,000
OMOISXIS X 22IXt L AMIBDE D
SE 200,002 * 30% 6,000
OMOIZXIEX Z208 ALSS) B
mETEPY 200,002 * 3% 600
OMOFSXIE R 829 0|HE M2tsts 2
DIHADT DA 200,002 * 3% 600
OSIAEHH ADE DS
40,0002 * 7% 280
OHI2AAI| e DS
50,0009 * 10% * 22 1,000
OHIZNAIISS =5 It 4
50,0002 * 45% * 22 4,500
307 BI2t0IH 16,000 16,000 0
02 DIAFHBE 2,000 2,000 0
OLAXSD 2IX 2,000
04 BIAABE 14,000 14,000 0
OMOIZ2S 38F4 JIE8A NI 3,000
OMOISXER BOISSE g 10,000
OZUSNBHUS K& 1,000
MOIS XIS X Xt Zet3 48,748 21,302 27,446
= 24,374
2 24,374
01 YL 48,748 21,302 27,446
= 24,374
2 24,374
2 ZAZYLENZ 48,748 21,302 27,446
OMOFSXIE X T a3 48,748
= 24,374




2 HE
M NXHE A2t
Gl FOIXX X3 (EHe|:® <)
_ _ MG
2N -3 - c2(3H) - NEME - HES 0] AFCH bﬂ/l\_w” Hns
= 24,374
IS2 ga28 22 280,000 320,360 A40,360
SR J=E=S Hutg 280,000 310,000 A 30,000
207 SHAFIHEH] 280,000 310,000 A 30,000
01 ARESAH| 280,000 264,000 16,000
Oz JI=EE i 280,000
& AEHOSD] 1,516,475 1,258,671 257,804
SEd AE 2 =22 354,500 420,120 A65,620
228 nssd 259,000 289,000 30,000
201 B3| 49,000 59,000 A 10,000
01 At®2teldl 49,000 59,000 A 10,000
O22F A=2UEH(BY, XE)
200,000& = 200Y¥ 40,000
O22F SEEUE ) 2A=
1,500,000& * 63l 9,000
202 O4H] 210,000 230,000 A20,000
01 2LHNHI 210,000 230,000 A 20,000
O22F nssd 210,000
223 ofAH 90,000 110,000 A 20,000
202 0dd| 90,000 110,000 A 20,000
03 =2ALLR20HH| 20,000 0 20,000
OSR& =AYR =&A 20,000
04 =M=yl 70,000 110,000 A40,000
O22d ol 70,000
Ats e 5,500 21,120 A 15,620
201 LBt Y| 5,500 6,520 A 1,020
01 AtR2t2ldl 5,500 6,520 A 1,020
OatzEx 2 =X 6,000& * 500%& 3,000
OFII=2E=s2RE 100,000& * 25& 2,500
A ==X 1,161,975 838,551 323,424
JIZtMZ22 X 82 X 68,132 74,057 A5,925
101 o1 | 68,132 74,057 N5,925
10 JIZH22XNSE 68,132 74,057 N5,925
O=20d=223 549,676,000 * 4.5% 24,736




SN B
Hm: 2| NIOIST|
ool NP SMEXSE Rk

_ _ _ HET
M. CRA(ZH) - MRAY - BES e loﬂ/ix_FOH Hos
ocnx8egsxz 549,676,000& * 1.5% 8,246
onzeEsEE 549,676,000 * 2.385% 13,110
O &&= 549,676,000& * 3.1% 17,040
Of & 1 2 5,000
eRmol X< 12,300 12,250 50
201 UBt2AH) 12,300 12,250 50
NEETEIT 12,300 12,250 50
O FEME 12,000& = 5004 600
OXA 428 4+ ¥ 18,0002 * 6508 11,700
g =X 634,500 504,000 130,500
303 ZTa2 634,500 504,000 130,500
TN 634,500 504,000 130,500
O%XEY =X 900,0008 * 705% 634,500
IRt Xl 362,489 176,750 185,739
3 HaZ 129,600 152,640 A 23,040
TN 129,600 152,640 A23,040
O3R2H 252 K&
120,0008! * 90 128 129,600
07 QI2tol& 232,889 24,110 208,779
QI2tIE S 232,889 24,110 208,779
O30 F& 3 232,889
LS MISUE X 21,760 25,360 3,600
201 st 21,760 25,360 3,600
A2 22l 17,760 16,360 1,400
OZ - Al - T BtOtsS MEUal () 10,800
—H40 100,000 * 3} 300
—SLIEZ 70,0008 * 150 10,500
O - Al - & 282 MU RUS
70,0008 * 40 2,800
OE - A -2 EJAZE HMsUa |ULS
70,0008 * 359 2,450
ORIIAL 22X =08 5
30,0009 * 57 1,710
AR H Y 4,000 9,000 5,000




SA: BED
BB 2|3 NS
o9 NEl SM=XEH ool J 2l
K- E3 .S (3H) - MBAY - B Ao ggi HRS2
SEEEENEEL 4,000
gaE2d 62,794 46,134 16,660
201 B2 I 62,794 46,134 16,660
01 AtR2t2ld] 62,794 46,134 16,660
O =: 4y 61,450
O 1,344
“H7E A" ¥
90,000& * 35 * 43| 1,080
-ARE Y 264
83 o5 2 A4 1,575,299 1,969,036 N 393,737
= 68,332
== 21,700
iy 1,485,267
YA DR Y 106,619 294,477 187,858
= 19,800
== 9,900
iy 76,919
BOIEAIE &5 6,470 202,569 196,099
201 2ErEIH| 1,430 1,129 301
02 =329l 1,430 1,129 301
OQIE YD UK ]
20,415,000& * 7/100 1,430
202 O4Hl 1,440 1,440 0
01 =2WAbl 1,440 1,440 0
O&FBSI|EAIE 22 EE 1,440
405 RAHAHF SHI 3,600 200,000 196,400
01 AANLEEFSHI 3,600 200,000 A 196,400
OQCIHYMNH ZEH(SH, d™, B2E)
1,200,000& = 3CH 3,600
CCTVEXl &« 29 32,041 4,200 27,841
201 LErEdH| 32,041 4,200 27,841
02 =329l 32,041 0 32,041
Oge g CCTV 32,041
-&J|= 19,0003 » 1404 =128 3,192




SN BEY
mu: Y25

T PO S CLE-ED
_ _ _ MEc
SA B S (3) - MEAY - BAS 0 &b g HDE2
Eldz(ceugs)
37,5008 * 82 «log 3,600
ST (MEYEE)
200,000 * 7HA * 12 16,800
ey 17,241,008 * 79 * 7/100 8,449
HE50ie D20 BaN 84 46,458 46,458 0
2 19,800
< 9,900
2 16,758
307 81201 46,458 46,458 0
2 19,800
< 9,900
2 16,758
EEETEES 16,458 16,453 0
OFEB0E TRIBT 46,458
—o121t| 1,100,008 * 3% « 12 39,600
= 19,800
< 9,900
2 9,900
R 13,200,008 * 38 * 1/12 3,300
428 1,186,002 * 3% 3,558
2s0e 243 20,950 40,550 219,600
201 Lsre) 16,550 35,500 18,950
01 ARE 2] 4,500 27,000 222,500
OBEIA0E = SHE B2 A
1,500,008 * 15 * 32 4,500
2 2zeu) 12,000 8,000 4,000
O 2302 SHOIX RX 24
40,000,000 * 341 * 10/100 12,000
03 A b 50 500 7450
ONEH0IE NP L SEHA Ha
50,0002 * 1 50
202 01t 2,800 2,800 0
01 =Lholol 2.800 2.800 0
OXEH0IE YBME Bel L 49 =X 2,800
01 s 1,600 2,250 650




M BE
M 23 25 @ A&
et U-Dl b D BHE A CECR-E!
SN HB SR (BIH) - A - B S 0l &b S D=2
A H 9 FAY - BES &5 Ofl & 04 ree
10 AIAHIZ& = 1,600 2,250 2650
OXdEZsig Fusg BA(ZY - &)
80,000& * 209 1,600
NSEHBIEXEAS 23 700 700 0
201 BH2EH] 700 700 0
01 AtR2&cldl 700 700 0

ONANBSERE A A BHEL
70,0008 * 10% * 13l 700
HESHRLUE 4y 133,521 134,506 A1,075
= 11,800
2 121,721
AR EHOX 2 93,871 85,89 7,975
201 Ygreg| 72,671 63,496 9,175
01 AtR2tel| 2,100 0 2,100
OAMOIHDERISI =TSRG BHa4Y
70,0002 * 158 + 23] 2,100
02 ZZ2Y| 70,571 63,496 7,075
002 EHOIXAIAY SX24 2,100
SEE A 30,000,008 * 7/100 2,100
OUME EHOINAAY SXS4 6,318
SEE A 43,000,000% * 7/100 * 3/4 2,258
—m2 34,000,0008 * 10/100 3,400
~MSOIE ABR 660,0002 * 114 * 13l 660
OHULAAY ST B2 5,614
~EE A 28,771,008 * 7/100 2,014
—m2 36,000,0002 * 10/100 3,600
OABISHAIAY ST 24 2,189
—Z2y 21,890,0002 * 10/100 2,189
OYATIZI0l AlAE SXE4 31,985
SEE A 137,213,002 * 7/100 9,605
—m2 223,797,00020 * 10/100 22,380
OAOIHDE TEHAAE SN 4 11,132
~EE A 80,110,008 * 7/100 5,608
—m2 Y 55,240,0002 * 10/100 5,524




FAHE
PSE RS
(=R I o

Eel: HPa3R UL 24 (S5l &2
_ _ HE T
SH-EH . C(BH) - NRAY - BES Off &F oA il i~ o Hnz2
OLNZ sHATL AL RA24 4,788
SFEE LD 30,000,0002 * 7/100 2,100
~Z20y 8,780,002 * 10/100 878
-HEDFRSMH Z2IY
18, 100,0002 * 10/100 1,810
ODNSAIA B SR 24 5,945
SFEE LD 27,500,0002 * 7/100 1,925
~DIAFECIS] BAHOIE
33,600,008 * 10/100 3.360
A0S AEE 660,000 * 11 * 13l 660
OSHR ASE 500
202 Ofl 1,200 2,400 A1,200
01 =UHofb 1,200 2,400 A1,200
O3B BEAAN U BRLT 1,200
207 SRIHEH] 20,000 20,000 0
02 F&fe] 20,000 20,000 0
OAZ EHOIX 22 HE
20,000,008 * 13l 20,000
20 PEssy Us 250 9,300 A9,050
01 YerEAS 250 1,200 A950
10 BAMHEAZ 250 1,200 2950
020 FLADS HI2BH(F)
25,0002 * 102 250
O HEHDS 39,400 39,400 0
= 11,800
2 27,600
201 Ysregy) 39,400 39,400 0
= 11,800
2 27,600
01 AFR2elt] 39,400 39,400 0
O%0l H23NS BA+L
25,0002 * 1,576A12 39,400
= 1,800
2 27,600
MR P 1,335,159 1,539,963 A204,804
2 48,532
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ool BIEE P8 (e19: @8
_ _ HE T
SA-EHB . CA(ENH) - HEAY - BE2 Ofl & o il i~ o Rz
01 At 2teld| 71,732 83,254 16,522
OYgtiRg ATEN (MSRIA 2007ST
) 220,0002 * 1008 X 22,000
OJeHm ATEY0 (EELCS)
695,2008 * 202X 13,904
OZoXAE ATEN (LENE Nett
&) 605,508 * 53X 3,028
OBIOIAA X ATES 0 (Al
20,0002 * 7002 14,000
OABIC ATES O 14,0008 * 7008 X 9,800
Ot AT E0{(HD CIOIE ARIZ- 300
SH) 9,000,0008 * 14! 9,000
WOIA AR 29 8,751 13,071 A4,320
201 er2g| 8,751 13,071 A4,320
01 At 22l 2,400 2,400 0
O 0|CIof 120,00020 * 200 2,400
02 Zz2Y| 6,351 10,671 ~4,320
OBZALE AU HAAAY XS4 3,246
SEE A 46,370,008 * 7/100 3,246
OHNH HAFY SNLS 3,105
SEE A 18,928,0002 * 7/100 1,325
—m2y 17,800,00020 * 10/100 1,780
HESAAL Bel(DSF, M) 17,805 21,605 3,800
201 greg| 4,281 4,941 660
01 At 22l 1,000 1,000 0
OXPSNSE T2y €4 - C
250,008 * 47} 1,000
02 Tzl 3,281 3,941 660
OXPHNSE YEIRHME LAYl
10,000,0002 * 5/100 500
O LHFFLAZYI(UPS) AL
47,021,002 * 4/100 1,881
O g28EI| R
18,000,002 * 5/100 900
307 QI2t0IF 924 924 0
05 0IZt9IErZ 924 924 0
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chel: HIEE P (crol &2
SN HB SR (BIH) - A - B S 0l &b S D=2
A H 9 FAY - BES &5 Ofl & 04 ree

OZUEBstuSEE RAFHAAH FXH|
77,0008 » 123 924
405 XtobESHI 12,600 15,740 3,140
AL EEH S 12,600 15,740 23,140
OFEsusZ MY WA (ZBFE)
1,200,000 = 8CH 9,600
OZEMAMNSE & - I A
3,000,000& = 1CH 3,000
HYARE AH wX2el 121,842 91,003 30,839
201 ZEH23H] 89,922 89,083 839
=223 89,922 89,083 839
OSI=2EXHBAAE(KLIS) S XYl 16,159
-4 164,000,000& * 7/100 11,480
-Zz ) 46,789,610& * 10/100 4,679
OFXZMHAIAE R 16,711
- A 66,250,000& * 7/100 4,638
-Te ¥ 109,750,000& = 11/100 12,073
OXtZ2elAlAE | X 15,333
-4 115,242,000& = 7/100 8,067
= 72,660,000& = 10/100 7,266
OOl &SI HAIAE SXIH (= AD])
87,200,000& = 7/100 6,104
OXLHAIAE SXIHl (L))
96,760,000& * 7/100 6,774
OdlolEHiolIA(Qet2) T3 ||
187,727,000& = 12/100 22,528
O stel0lAH |XId 6,313
- &) 24,380,000& = 7/100 1,707
-oz ) 46,060,000& * 10/100 4,606
202 O4Hl 1,920 1,920 0
=LH0dHI 1,920 1,920 0
OEMHIXNE ¥ daEH EHH 1,920
405 XHAHESHI 30,000 0 30,000
R E S H S 30,000 0 30,000
OLXEZH = 2e|Alad 2=
30,000,000& * 14l 30,000
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M Y5 O% T AN

cGe: AEe 2E (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
HBEAAAH 2 286,640 250,745 35,895
201 LEr2HH| 63,440 70,283 NB,843
01 AtR2t2IH] 400 400 0
OFAXAl E L 100,000 = 4CH 400
02 ZZ=29H] 63,040 69,883 A6,843
OXstWEtEHl S|
163,257,000 * 14l * 7/100 11,428
OINZHFIAIAE SXIH|
7,185,0002 * 84l = 7/100 4,024
OIPESIAIAE SXIH|
(62,869,1009¢ = 7/100)/12 * 62 2,201
O=23 HM5I| Xl 2,793
PNI=FSE=p) 350,000 = 90CH = 7/100 2,205
-CIDY EHE 5} D] 42,0002 * 200CH * 7/100 588
OFAX S XIH] 785,0002 * 11CH = 7/100 605
OSEMEMKARH SKXIH| 1,996
-23 12,059,000 * 14! % 6/100 724
-S.0.0020
1,766,420 *« 1241 % 6/100 1,272
OFUEAMZ S 2,000,000 * 14l 2,000
OEXNZRH L 34 o|™A X H|
2,000,000 * 13 2,000
OYUIZZHME KX|H| 14,500,000 * 7/100 1,015
OFUHEESAY "X
201,517,930 * 7/100 14,107
OXLHAENH B ZH|(2+2E) S|
53,588,510 * 7/100 3,752
OBATZA(17HA) FLIY SXH|
33,000,000 * 7/100 2,310
OIPSEESAIAE S|
69,179,000 * 7/100 4,843
OEHT 22| AIAE (KITH) S
48,000,000 = 7/100 3,360
OFAZ| Al AE S|
19,889,000 * 7/100 1,393
O=22&#ZE S|
74,469,000 * 1Al % 7/100 5,213
202 OiH 3,200 4,800 21,600
01 =2LHoddl 3,200 4,800 A 1,600
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ool MEE P

1
>
0x
o
0
1
5
=
S
i
©
g
0x
Jo
=
z
12
20
R
J2H
==
£l
¥
0y

= 3,200

308 KNAISHHMSOIE 17,000 0 17,000
05 AXSHHMARES 17,000 0 17,000
O&-T2t SHSIJAIAE IHA 17,000
401 AIEHIZ=20Y] 200,000 133,000 67,000
01 Al&HI 200,000 133,000 67,000
OINEXSAIAE WH(2AE A, 78H, 12
SAR L) 200,000,000& = 14 200,000
405 XtetE S| 3,000 42,662 39,662
01 I SESFHSHI 3,000 42,662 39,662
oAl el 600,000& = 5CH 3,000
HAEH P & FRl2tel 180,980 207,221 N26,241
201 LEHRHH| 50,430 61,871 A11,441
01 AtR2teld 8,000 17,626 N9,626
OZglH A2F(2Xd0IH)
1,000,000& * 835 8,000
02 =324 42,430 44,245 A1,815
OgerdeE MaEHl | 38,545
-HARH 1,250,000 = 350CH = 7/100 30,625
-T2l 900,000& = 220CH = 4/100 7,920
OU=doIMERH Sl
55,500,000& = 7/100 3,885
405 XtobESHI 130,550 145,350 214,800
01 A =SSFHSHI 130,550 145,350 14,800
Oz =H 1,200,000& * 100CH 120,000
ozZgy 10,550
-QEEHE 1,000,000& = 9CH 9,000
—-0CR 1,550,000& = 1CH 1,550
FESUISAM ASEZA 3,900 3,900 0
201 LEHRHH| 1,500 1,500 0
01 At22teld 1,500 1,500 0
OZEESAZAL AHZEHALEHl W&
300,000& = 5CH * 12l 1,500

202 OdHl 2,400 2,400 0
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chel:

2 0%
HT 0%
bk

3t o5
dUEE 2

2 2Aa
=

=

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
01 3L 2,400 2,400 0
OEESUSAL AHZSEZ AL S ZAA 2,400
HESALo 13,981 180,853 166,872
201 UBt2Hy) 13,981 12,413 1,568
02 =329l 13,981 12,413 1,568
Oz R 32,000,0002 * 7/100 2,240
Ogyese S 45,500,00094 = 7/100 3,185
OS5I &HI(VPN) S|
44,671,900 * 7/100 3,128
OEUESXIAIAE(IDS) FXIYI
29,340,0009 = 7/100 2,054
OIHXI 22l Al A E(PNS) R RIH]
48,200,0002 = 7/100 3,374
HESANY 362 L 3223 392,177 435,237 43,060
201 Bty 353,634 393, 167 39,533
02 232 353,634 393, 167 39,533
O2BetES AIEZ
63,0008 * 1003|& = 12 75,600
O=H dZ3N&s L WNY dE3ld=
61,4803 * 25334 = 12& 186,654
O=NEQHUY sz
1,486,0002 * 134 » 128 17,832
OCIHYUNH & HFE ASL A2
32,4708 « 24354 « 128 9,352
OYFMIAAY 0122 465,000 * 128 5,580
OOot0IE2e1 AMEZ 33,000& * 123 396
OR8N A2 30,0008 * 8CH » 128 2,880
OXXNER d83ldz
181,0008! * 203 & » 128 43,440
OQIEY SHAANHIAZ 200,0008 * 12 2,400
OEUNs Al=2E 125,00090 * 3CH * 128 4,500
ORXH(SHS) &5 AEZ 5,000
308 RHXIEHH SOIA 38,543 42,070 3,527
05 XXICHHZIES3 38,543 42,070 3,527
OFE=L dNERSEY MEZ 38,543
MSHEANAE 23 76,769 111,464 A 34,695
201 L2yl 19,674 82,084 AB2,410
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ool MIHE P CREE))
_ _ HE T
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
EEEE 19,674 82,084 262,410
ONZT H25 ZEINYALY R4
531,520,0002 + 7/100 * 3/12% 9,302
ONZT BEHBALAY SN2+
556,000,0002 + 7/100 * 3/122 9,730
OQEY AATHAY SN2
9,166,302 * 7/100 642
403 RXSHSKZO0IH 57,095 0 57,005
02 ZoIHSOICHE AL 57,095 0 57,005
ONZT H235 ZEILAILEY RN
531,520,0002 + 7/100 * 9/12% 27,905
ONRT BEHBAAY SXB4
556,000,0002 * 7/100 * 9/122 29,190
NELIPURCIPE 2,223,430 1,564,876 658, 554
= 13,393
= 2,210,037
DRI N 1,223,430 564,876 658,554
= 13,393
2 1,210,037
NHYAHRA 2 256, 130 256,130 0
308 XHXIEHSOIH 256,130 256,130 0
FEFELFEEES] 256,130 256, 130 0
OR0{8 Foina 2Y(ESsD 154 D) 256,130
D34 XN 299,800 258,746 41,054
= 13,393
2 286,407
201 Yere gt 2,100 3,360 A1,260
01 A= el 2,100 3,360 A1,260
ODNTEH DSV AARRS EHA+Y
70,0002 + 102 * 33l 2,100
308 XHXIEHH SOIH 297,700 255,386 42,314
= 13,393
2 284,307
FEPELFEEES] 297,700 255,386 42,314
OstnI Al X 297,700
= 3,393
2 284,307




SN #ID
HE: NI 2

SR NI ;Ig (St &)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
x=-ZS&W WEWHA A 267,500 50,000 217,500

308 XXIEHXMSOIA 267,500 50,000 217,500
06 wIIZNUSEEXZ 267,500 50,000 217,500
ONE JUHME stsdy 2¢9 180,000
Oxs&sy gtz Exgxs)d 29 40,000
Ot 2s& Fl 33,500
OFAZUWN T2 HH 14,000
Hotxssty UsdEd=s2 A& 400,000 0 400,000
308 XAHXIEHXMISOIA 400,000 0 400,000
06 wWIJI20d 400,000 0 400,000
OtUsHENsA2 (o) 400,000
2 ¥2s8n =4 1,000,000 1,000,000 0
WMZOIHEDIZ EA 1,000,000 1,000,000 0
06 =42 1,000,000 1,000,000 0
01 &dH= 1,000,000 1,000,000 0
O(M)AZ201 A =9 1,000,000
Ar2H 3 E 6,400 11,100 A4, 700
Lzl 6,400 11,100 A4, 700
SRJACHH 22 6,400 11,100 N4, 700
201 LB IH| 5,800 5,700 100
01 ArR2t2|bl 5,800 5,700 100
OSHDE =3:= I8 248
100,000 = 2A12t = 53] 1,000
OLXZAMNRA MEES 150,000& = 12& 1,800
OBUL2A IESH
250,000& *= 1 = 123 3,000
202 O] 600 5,400 4,800
01 =2WAbI 600 5,400 A4 ,800
Oz=ol nEYe = 600
NESSELAMA & 69,591 74,558 N4 ,967
o= 2,472
iy 67,119
NGEAENN 2= 69,591 74,558 N4 ,967
== 2,472
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B NASHUIIMN 2
£rol: XKL PIEHH 7= (Er9): &2
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl e HRE2
NETTE P 2 67,119
olblZ?us ZFHIX& 8,241 19,343 211,102
& 2,472
2 5,769
403 THXIGHHSXH0IE 8,241 9,343 AT11,102
= 2,472
= 5,769
03 OHZs48XJANEEL 8,241 19,343 A11,102
OJfers st 52,5703 * 70K 3,680
< 1,104
a 2,576
O2x 14,2803 * 500H 714
= 214
2 500
Ot 70,1502 * 2071 1,403
= 421
fiis 982
OO0r& & 26,770 * 700K 1,874
= 562
i 1,312
OOrd & I 570
= 171
s 399
WHIZSS X 61,350 55,215 6,135
308 XNXIHHMSOIE 36,800 37,100 A 300
07 UHZ=dANJIAZLEX 36,800 37,100 A 300
OMRa2GY X2
200,000& = 122204 = 123 28,800
OsEYAHAS X 8,000,0008 * 13l 8,000
403 XXISHSKHE0IA 24,550 18,115 6,435
03 OblzZz=4X3ANESEX 24,550 18,115 6,435
OO0Fel & &t 160,000& = 2074 3,200
O 4002 - ¢z 1,500,000 * 12K 1,500
Oosis® 150,000& = 1074 1,500
oXgus4d &I N3 10,000,000& = 13 10,000
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R
121

1,000,000 = 4CH

150,000 = 2974

4,000

4,350

oW

M

81,242
694
1,061
79,487

83,719

N2, 477

H

H

15,922
694
1,061
14,167

20,514

AN4,592

12,180

16,670

A4,490

7,320

11,070

A3,750

2,500& = 1,0004

70,0002 » 5&

33,000& * 10H

250,000& = 12K

RIBAFE DI E AL &40t

70,000& * 2K

7,180
2,500
1,350
1,000

350
3,330

330
3,000

140

140

10,680

390

A3,500

A250

4,860

5,400

Ab40

4,860

4,860

5,400

540

SR

M

2,542
694
461

1,387

2,644

A102

hnoW

A

1,422
427
283
712

1,430
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FAAEY
M =0 X9lss A3
Eel: Bl SO P
< _ o A
FA R CA(EA) - NFAY - BYES &r ol Ol AF o8 BlusZ
02 =522l 8,360 13,160 24,800
ORgABEAE R
1,000,000& * 212 2,000
ougZ+=Ad =Xt 600,000& * 702 4,200
OHlgg=AE Mg
45,0008 * 4)4 2 = 12 2,160
401 AIEBIZF Y 10,000 0 10,000
01 Al&H] 10,000 0 10,000
ORIZAZEAE 0l MY
10,000,000& * 14 10,000
sSkds 29 7,900 6,200 1,700
201 Ler=g 7,900 6,200 1,700
01 Atz 2l 7,900 6,200 1,700
OsXd&sd 2,000
-SEe 3 500,000 * 12 500
-a25 2 1,000
-HlaE &I =2 500,000& = 12 500
OSXds I =4l 5,900
-84 5,000& * 100& = 104 5,000
-0F& 3,000 * 100& * 34| 900
9 & 22U A=A 37,060 42,855 25,795
s92FRE 29 27,060 32,855 A5,795
301 LetEd= 27,060 32,855 25,795
09 z9=2FRIALY= 27,060 32,855 Ab5,795
Os9427ed 27,060
-8 = 88,0002 = 5& « 123 5,280
-2 A& 4l 105,000& = 11 = 128 13,860
-u & 60,000 * 118 = 123 7,920
AgLUU =23 10,000 10,000 0
307 212tol ™ 10,000 10,000 0
04 CQIZHAIZE X 10,000 10,000 0
QuazZosAdl J=Z2Alz 10,000
FEUXX KIS X 93,400 93,400 0
el 24 93,400 93,400 0
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el
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[(B1H) - HIRAY - BYS

2
J2

93,400

93,400

1,200,000& = 471 CH

93,400
57,100

51,100

6,000
36,300

31,500

4,800

T

A

31,814,948
34,283
226,011
31,554,654

e
02

M0

=2
O
Ui

HT

A

31,686,684
34,283
226,01
31,426,390

e
=

O
]

STIT

M

25,183,923
34,283
226,011
24,923,629

T

H

25,183,923
34,283
226,011
24,923,629

3,235,600% * 3% « 123
2,961,300& * 259 12

2,395,900& * 12398 * 128

HT H

14,253,265
13,258,851
69,836
116,482
888,390
3,536,349

34,283
15,579

R
J2H
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SN BHY
Mo WHSAAH (HH D)
CHol: ol 2| (5 2) (Et9): & @
. _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ol AF o8 Blusz
2 3,486,487
-72(14) 1,816,0008 * 153% * 128 3,334,176
= 85,610
2 3,248,566
-82(5) 1,154,400% * 1062 * 122 1,468,397
= 95,734
2 1,372,663
92 (4) 973,900% * 45% * 128 525,906
= 29,088
2 496,818
-2 863 (22) 2,363,0008 * 17% « 128 482,052
-4 H73(31) 2,354,800% * 1% = 128 28,258
-J1563(22) 2,363,000% * 3% = 128 85,068
21573 (20) 2,065,0008 * 128 « 128 297,360
-J1583(18) 1,786,100 » 458 « 128 964,494
-J1593(13) 1,423,600 » 218 « 128 358,748
I 102 (4) 879,300% * 16 * 122 168,826
Xl & 2 (24) 3,397,400% * 3% = 128 122,307
XIS AH(24) 2,273,0008 * 26% * 128 709,176
G132 AL(10) 1,717,100 » 59 = 128 103,026
O&012 994,414
24 13,258.,851,0008 * 0.9/12 994,414
02 +g 3,277,482 3,349,807 AT72,325
SENE=L RS, 1,326,817
Ao 2R g 1,313,985
-FYzesy 2,348
2R YL Y (43) 10,484
Ogoue x4y 200,000
oRgzeary 50,0008 * 18% « 122 10,800
Os0tEx+Y 500,0008 * 4% * 122 24,000
SEEEN=PIINE 505,920
~2514 0| & 130,0008 * 1132 » 128 176,280




S HEDL
M HE2HYAH (HFD)
el ol 2IGHI(BE)
S HB . S(SH) - HEAMY - BES 01l &k o S
- o= ° I T ° . (= (=3 =5 0:”/.:"%
—204 0| &f~25 0| BF
110,000& * 57 = 12& 75,240
-15E 01 &4~20= 0 B¢
80,000& * 161 = 12& 154,560
-10= 0| &~15 0] B¢
60,0003 * 829 * 12& 59,040
-5 0| &~10= 0 8t
50,000& * 68H = 12& 40,800
Ooti=z=3=¢ 232,900
-5=(39) 5,118
-6= (66%) 95,369
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